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LG I VIV 1:3 m3 0.5 0.5
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faf T 5 1.0 1.0
BRaR T S 1.0 1.0
779 hL 55 1.0 1.0
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W A FLIORE T 1500 X 1500 X 200 & BT 1.0 1.0
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EJ=ND FEBRIET A2V t=5cm m2 34.8 34.0
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a7 U —h 18-8-40 V= (7.50%3. 70+ (1. 24+1. 14) %2%0. 52) %0. 15 m3 4.5
TR e A= (7.50+3.70)*2%0. 15+ ( (1. 24+1. 14) %2+ (1. 54+1. 44) *2) *0. 52 m2 8.9
HWEET/LHIL 1:3 V=" (7.50%3. 4-1. 24%1. 14)*0. 02 m3 0.5
FeEen L RC-40 t=20cm A= 7.50%3.70 m2 27.8
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RS R KA 40m3 N= 5 1.0
P T N= %% 1.0
Bk L N= * 1.0
777 ML N= X 1.0
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iy A= 1. 5%4%0. 2 m2 1.2
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L SD345 D13 W= (1. 4%12+0. 395%20)*0. 995/1000 t 0. 02
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NO. 0 0.0 0.0
NO. 0+1. 4 1. 19. 1 9.55 13.4 8.3 4.15 5.8
NO. 0+1. 9 0. 19.1 19. 10 9.6 8.3 8.30 4.2
NO. 0+4. 6 2. 19.2 19. 15 51.7 8.5 8. 40 22.7
NO. 0+7. 0 2. 19.2 19. 20 46. 1 8.5 8.50 20. 4
NO. 0+7. 0 21.8 20. 50 8.5 8. 50 0.0
NO. 0+9. 1 2. 21.8 20. 50 43. 1 10. 1 9.30 19.5
NO. 0+9. 8 0. 21.9 20. 55 14. 4 11.1 9. 80 6.9
NO. 0+11. 5 1. 0.0 9. 60 16.3 0.0 4.25 7.2
AR Y b 1.9
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TAT7VMEREE T | T g AR T (=150 RC-30) A= 9.2 m2 9.2
b JE A% T (£=100 RM-30) A= 9.2 m2 9.2
7770 M %E T (£=50) A= 34.8 m2 34. 8
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FREA (B FEAEA)
A= (1.1+1.9) /2%2. 7+(1. 9+2. 1) /2%0. 6
+(2.1+0. 0) /2%1.2=6. 5 m2 6.5
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V)Y - Mk E R L = Vi=  5.0%0.1=0.5
BT B V2= (0. 6%0. 45-0. 3%0. 3)*12. 0=2. 16

R ) - FF V= 2.16+0.5=2. 66 m3 2.6
VAR S e g U iRV m3 2.6
RSl 7A77Vh t=5. Ocm L= 8.4+2.6=11.0 m 11.0
EhASRR R L 7277k t=5. Ocm A= 34.8 m2 34. 8
T AT 7V s e AL TAT 7 V= 34.8%0.05=1.74 m3 1.7
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